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QUESTION 1

A user working within a TM1 Web cube view needs to prevent a leaf cell from being changed by a spread operation.
Which command would you use? 

A. Protect 

B. Hold 

C. Lock 

D. Reserve 

Correct Answer: B 

 

QUESTION 2

What are three reasons why you would use Cognos BI Reporting rather than TM1 Web? (Choose three.) 

A. You must merge data from different cube sources. 

B. You require bursting of reports. 

C. You require different report versions. 

D. You require data entry capability. 

E. You require highlight capability for reports. 

Correct Answer: ABC 

 

QUESTION 3

In which tier of the IBM Cognos TM1 client-server architecture does the TM1 Administration Server reside? 

A. Tier 2: Web Application Server 

B. Tier 1: Web Client 

C. Tier 4:Relational Store 

D. Tier 3: Data 

Correct Answer: D 

 

QUESTION 4

A company usesExcel workbooks to access IBM Cognos TM1 data over a wide area network. The company needs to
improve the performance of their Excel workbooks which contain multiple slices from multiple TM1 cubes. 
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Which two changes will improve performance? (Choose two.) 

A. Convert all DBR() functions to DBRW() functions. 

B. Make all DBRW() functions reference a single VIEW function. 

C. Convert all DBRA() functions to DBRW() functions. 

D. Convert all DBRW() functions to DBR() functions. 

Correct Answer: AC 

 

QUESTION 5

What data spreading options are available to users in the Perspectives or Architect Cube Viewer? (Choose two.) 

A. Repeat 

B. Straight Line 

C. Increase 

D. Decrease 

Correct Answer: AB 

C2020-701 Practice Test C2020-701 Exam Questions C2020-701 Braindumps

Powered by TCPDF (www.tcpdf.org)

C2020-701 Practice Test | C2020-701 Exam Questions | C2020-701 Braindumps                                3 / 3

https://www.geekcert.com/c2020-701.html
https://www.geekcert.com/c2020-701.html
https://www.geekcert.com/c2020-701.html
http://www.tcpdf.org
https://www.geekcert.com/c2020-701.html
https://www.geekcert.com/c2020-701.html
https://www.geekcert.com/c2020-701.html

